





SURAT MUNICIPAL CORPORATION CENTRAL ZONE QUOTATION / CONSENT FORM

QUOTATION NO. CZ/Lig	ht/02/2023-24 DATE: 01/06/2023					
NAME OF WORK	Supply Installation, Testing & Commissioning of MCCB panel box with ELR, RCCB and cable laying work at various Health centre located in Central Zone, Surat Municipal Corporation.					
Validity Period : 120 Days Agency Category : Experience						
Required Documents						
1 GST Registration	1 GST Registration					
2 Electrical Licence	2 Electrical Licence					
ISSUING AUTHORITY Executive Engineer, Central Zone, Surat.						
ISSUING OFFICE New Admin Building, Central Zone, Mugalisarai, Surat - 395003						
INVITING AUTHORITY Executive Engineer, Central Zone, Surat.						
Submition Date	TILL: 07/06/2023 UPTO 18:00 P.M.					
SUBMITTED To,	EXECUTIVE ENGINEER, NEW ADMIN BUILDING, CENTRAL ZONE, MUGALISARAI, SURAT - 395003					
GST CLAUSE FOR CONSTRUCTION/ ERECTION/ COMMISSIONING/						
INSTALLATION/ REPAIRS/ MAINTENANCE/ RENOVATION/ FABRICATION OF						
STRUCTURE INCLUDING BUILDING (MEANS ALL WORKS CONTRACT/ TURN						
KEY PROJECT/ SUPPLY OF MATERIAL/ GOODS)						

GST (Goods and service tax has come in existance from 1st July, 2017. Contractor/ Successful Bidder is bound to pay any amount of GST prescribed by the govt. of India as per the terms of contract agreed upon during the course of execution of this contract.

During the course of execution of contract, if there is any change in rate if GST (Goods and Service Tax) by the Government, the same shall be reimbursed/ recovered separately by SMC. subject to the submission of original receipt/proof for the amounts actually remitted by the contractor/ successful Bidderer to the competent Authority along with a certificate from Chartered Accountant of contractor/ successful Bidderer certifying that the amount of GST paid to the government and the same shall be intimated/ submitted/ claimed within 30 (Thirty) days from the date of payment. Remittance of GST within stipulated period shall be the sole responsibility of the successful contractor/ Bidder, failing which SMC may recover the amount due, from any other payable dues with SMC and decision of Municipal Commissioner shall be final and binding on the contractor/ successful Bidder in this regard. Further, the nonpayment of GST to the government may lead to the termination of contract.

If imposition of any other new taxes/ Duties/ levies/ Cess or any other incidentals etc. or any increase in the existing taxes/ Duties/ Levies/ Cess or any other incidentals etc. (Excluding GST) are imposed during the course of the contract, the same shall be borne by the successful contractor/Biderer only; in no case SMC shall be liable for the same.

SIGNATURE OF ISSUING AUTHORITY

S/D **EXECUTIVE ENGINEER CENTRAL ZONE SURAT MUNICIPAL CORPORATION**





Executive Engineer Central Zone



Surat Municipal Corporation, Central Zone, New Administration Building, Muglisara, Surat - 395 003.

Ph. No.: 0261-2432751-56.

QUOTATION INQUIRY

	CZ/Tech./No. :- 1233			
To,	Dtd.: - 01/06/2023			

Sub: - Supply Installation, Testing & Commissioning of MCCB panel box with ELR, RCCB and cable laying work at various Health centre located in Central Zone, Surat Municipal Corporation.

Dear Sir,

Surat Municipal Corporation Central Zone is inviting quotation for the work of supply installation, testing & commissioning of Mccb panel box with ELR, RCCB and cable laying work at various health centre located in central zone, surat municipal corporation as mentioned Terms & Condition.

Therefore you are requested to send your offer in given format to "Executive Engineer, Central Zone, Surat Municipal Corporation, Surat" in a sealed cover with mentioned subject & last date of receiving. So as to reach in the office of under signed on or before 07/06/2023.

Please note that the sealed cover shall be super scribed with the name of Supply installation, testing & commissioning of Mccb panel box with ELR, RCCB and cable laying work at various health centre located in central zone.

S/D

Executive Engineer Central Zone Surat Municipal Corporation

Encl. : - (1).Terms & Condition (2). Offer Schedule





■ Terms/ Conditions of Quotation

*	All Taxes/ Duties, Transportation, GST, levies, duties, transportation and labour charges etc.: -	Included	
*	Validity of Quotation : -	120 Days	
*	Payment condition : -	100% Payment shall be made within 45 days after work completion and submission of invoice.	
*	Note :-	 The material Supplied shall be as mentioned in Quotation. The work must be carried out to the satisfaction of the Engineer in charge. The successful Contractor shall also be required to enter into contract agreement along with undertaking and local surety on Gujarat Stamp Paper purchased from Surat worth Rs. 300.00 for Each (To be brought by the contractor) on getting the order. 	

SCOPE OF WORK

- Work includes supply installation, testing & commissioning of Mccb panel boxes with ELR, RCCB and cable laying work at various health centre located in central zone.
- The work shall also include removal of existing Switchgear and same shall submitted to the department.
- The above work is to be carried out in coordination with Torrent power and liasioning work for Extension of Power supply meter connection with Torrent power. Quatation charges for extension of Power supply meter will be paid by SMC.
- No wire/ cable/ should remain open and/ or in unsafe operating/ working condition(s).
 Contractor shall use genune material of same specification.
- Contractor will comply with all safety rules and regulations and all interdisciplinary measures as followed by the corporation. The corporation will not be responsible for any accident/injuries to the staff of the contractor.
- The contractor shall be responsible for safety on site during the works. All the necessary
 personal protective safety equipments, material for the staff shall be bought by the
 contractor.
- Bidder must make his own arrangement for watch and ward of material supplied till it is commissioned satisfactorily at site and handed over to the corporation. Corporation will not be responsible for theft of materials till it is commissioned satisfactorily and handed over to the corporation.

(1) Penalty Criteria:

Contractor is expected to perform in the best engineering practice manner such that user department feel satisfaction of the services obtained. However in case of failure of such thing shall be lead to attraction of penalty. Following cause/incidence shall attract penalty:

1. The work must be completed in all respect within stipulated time period as mentioned earlier (TIME REQUIRED FOR COMPLETION), failing which penalty @ 0.2 % of order value of unexecuted portion per day of delay subject to maximum 10 % of order value shall be charged and shall be deducted from the bill or any outstanding payment. Also, if contractor fails to execute the work than action against contractor will be taken as per decision of competent authority of SMC and that should bind to contractor.

2. TIME LIMIT / WORK COMPLETION PERIOD

• The firm will have to complete above work within 45 days from order of Light dept. of SMC.

3. PRICES AND PAYMENTS: -

- All rates should be quoted including GST in separate sealed cover.
- The tenderer must understand clearly that the prices quoted are for the total works i.e. Supply Installation and include all costs due to labour, supervisions, transportation,





loading unloading watch and ward etc. including GST. No claim for additional payment beyond the prices quoted will be entertained and the tenderer will not be entitled subsequently to make any claim on any ground.

4. AGREEMTNT/STAMP DUTY:

• The successful contractor shall also be required to enter into contract agreement along with undertaking and local surety on Gujarat Stamp Paper purchased from Surat worth Rs.900.00 (i.e. 300.00 + 300.00 + 300.00 for each) (to be brought from Surat by the contractor) on getting the order. However, the stamp duty at prevailing rate shall be applicable if revised by Government.

5. TERMS OF PAYMENTS: -

- No payment shall be made in advance
- 100% amount will be released within 45 days from the date of completion of work and submission of Invoice.

6. Vendor List

WIRES	Torrent, FINOLEX, Havells, KEI, R R Kabel				
ARMOURED CABLES	Finolex, Torrent, Havells, KEI, R R Kabel, CCI, UNISTAR, Gloster				
UNARMOURED CABLES	Finolex, Torrent, Havells, KEI, R R Kabel, CCI, UNISTAR, Gloster				
MCB/RCCB/MCCB/ELR/DISTRIBUTION BOARDS/CHANGE OVER SWITCH/SFU	Schneider, Siemens, ABB, L & T				

7. Other Terms and Conditions:

- Visit the site before quoting these rates.
- After bidding process, any deviation in quoted rate, terms and condition shall not be entertained later.
- Rates must be filled in this quotation paper only and returned duly sealed & signed.
- Corporation reserves the right to accept or reject any or all the quotations without assigning any reason thereof.
- SMC will not pay any transportation charges and also not provide any type of assistance which carrying out above mention work.
- The offer shall be reached in a sealed cover to "Executive Engineer, Central Zone, Surat Municipal Corporation, New Admin Building, Mugalsarai, Surat 395 003".
- SMC reserves its right to accept or reject any quotation without giving any reason. SMC reserves its right to reject lowest Bidder.
- The rates quoted shall remain in force for full period of contract.
- Corporation will not issue any 'C' or 'D' form.
- All works under the contract shall be executed under the directions and subject to the approval in all respects of the SMC which shall for time to time direct at what point(s) and in what manner the works to commence, and carried on.
- The name of work i.e. "Quatation of Supply Installation, Testing & Commissioning of MCCB panel box with ELR, RCCB and cable laying work at various Health centre located in Central Zone, Surat Municipal Corporation." must be mentioned on the envelope without which quotation is likely to be rejected, which must be noted.
- Contractor has to strictly follow the make mention above and provide necessary documents to prove for genuineness of material up to the satisfaction of engineer in charge. The payment will be made only after approval of genuineness.

S/D

Executive Engineer
Central Zone
Surat Municipal Corporation





SURAT MUNICIPAL CORPORATION OFFER SCHEDULE

Sr No.	Item	Unit	Qty [A]	Unit Rate (Incl All Tax) [B]	Total Amount [AXB]
1	Providing and erecting Mains with ISI marked, 1.5KV grade electrolyte multi stranded, annealed copper conductor with heat resistant PVC insulated conforms to IS 694, IEC - 227 erected in existing pipe of following size with required size of copper lugs, nuts and bolts if required. One wire 16.00 sq. mm.	Mtr	30	157.00	4710.00
2	Providing and erecting Mains with ISI marked, 1.5KV grade electrolyte multi stranded, annealed copper conductor with heat resistant PVC insulated conforms to IS 694, IEC - 227 erecte\d in existing pipe of following size with required size of copper lugs, nuts and bolts if required.One wire 70.00 sq. mm.	Mtr	30	745.00	22350.00
3	Providing and erecting XLPE(IS:7098)(I)-88 ISI armoured cable multistrand Aluminium conductor for 1.1 KV. to be laid on wall with necessary clamps of 3 1/2 core 35 Sq. mm (16 Sq. mm 1/2 core)size of cables.	Mtr	45	252.00	11340.00
4	Providing and erecting XLPE(IS:7098)(I)-88 ISI armoured cable multistrand Aluminium conductor for 1.1 KV. to be laid on wall with necessary clamps of 3 1/2 core 95 Sq. mm (50 Sq. mm 1/2 core)size of cables.	Mtr	90	565.00	50850.00
5	Providing and erecting Approved make RCCBs conforming to IS: 12640 and having sensitivity of 30 mA and Short Circuit withstand capacity of 10 KA and suitable for operation on 3 phase and neutral 415V,50Hz. having characteristic of quick action & tripping with all advance feature & do not incorporate any electronic component for 63 Amps FP rating erected as directed.	No	4	3550.00	14200.00
6	Supplying & fixing box for housing RCCB + MCB combination made of 18 SWG sheet steel duly powder coated with gasket, dust & vermin proof bakelite shield two earthing terminals for following type of RCCB, RCCB + MCB [b] For 4 Pole	No	4	520.00	2080.00
7	Providing and erecting Approved make Three pole moulded case circuit breaker having breaking capacity ICU of 35 KA. and above at 415 V . having normal current rating 200A. with variable thermal & magnetic release suitable to work on A.C.supply 50 c/s. with all internal connections & complete erected in existing 16 G.M.S. housing.(incuding Spreader Link)	No	3	18195.00	54585.00
8	Providing & erecting weather proof, dust & vermin proof, floor mounted front operated indoor type cubical panel board necessary IP-42 and above protection as per approval from engineer incharge made from 14 SWG thick CRC M.S. sheet for outer body & doors, 16 SWG thick CRC M.S.sheet for internal partitions with necessary accessories , supporting angles/ flats channel including cutting, bending, drilling, welding, riveting with internal partitions & cable alley as per requirements & instruction of engineer-in-charge with erection of (A) locally fabricated panel board (i) with 350 mm depth	Sqmtr	1.5	12230.00	18345.00





9	Providing and erecting Approved make Earth fault Relay suitable to mount with inter connection suitable to following size of moulded case circuit breaker having CT ratio & MCCB rating as following along with shunt trip 220V AC. with all internal connections & complete erected in existing M.S.housing.(2) 125 A - 200 A, CT Ratio 1/200	Nos	3	5820.00	17460.00	
10	Providing and, fixing heavy duty flange type brass cable gland with rubber ring for PVC insulated armoured cable complete with out going tails, insulating tape etc for following size of cables. (B) 3 & 1/2 core 35/50 Sq. mm	Nos	4	87.00	348.00	
11	Providing and, fixing heavy duty flange type brass cable gland with rubber ring for PVC insulated armoured cable complete with out going tails, insulating tape etc for following size of cables. (c) 3 core 95 Sq. mm	Nos	4	152.00	608.00	
10	Solderless crimping type Aluminium lugs conforming to IS suitable for cable of following size evenly crimped with high pressure tool & connected to switchgear terminals with brass/cadmium plated nut bolts in an approved manner. (D) 35/50 Sq.mm.	Nos	12	23.00	276.00	
11	Solderless crimping type Aluminium lugs conforming to IS suitable for cable of following size evenly crimped with high pressure tool & connected to switchgear terminals with brass/cadmium plated nut bolts in an approved manner.	Nos	12	46.00	552.00	
12	Neutral Link	Nos	3	200.00	600.00	
	Total Amount in Rs. 198304.00					
Tota	Total Rate quoted%Above / Bellow /At par than Estimate Amount					
Rs.	1,98,304.00 , Total Amount	for	t	he ab	ove work	
isi.e.In.word						

S/D

Executive Engineer Central Zone Surat Municipal Corporation

* SIGNATURE & SEAL OF CONTRACTOR *